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Question Number : 1 Question Id : 61547511825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of 1deas

(4) Mastery of facts and information

Options :
61547546101, 1
61547546102, 2



E1547546103. 3
61547545104, 4

Question Number : 1 Question Id : 61547511825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

1547546101, 1
61547546102 2
61547546103 =
61547546104 4

Question Number : 2 Question Id : 61547511826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

(b) Teaching umplhes learning

() Teaching 1s hike selling while learning 1s like buying

(d) Teaching can occur without learning taking place

(e) In teaching. influence is directed towards learning and learner, while 1n learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2) (a). (byand (c)
(3) (b). (c) and (d) (4) (e). (d) and (e)
Options :

615475461051
61547545108, 2
E1547548107. 3
E1547545108. 4

Question Number : 2 Question Id : 61547511826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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615475461051
61547545108, 2
E1547548107. 3
E1547545108. 4

Question Number : 3 Question Id : 61547511827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a), (b) and (c)
(2) {(b). (c) and (d)
(3) (a). (b) and (d)
(4 (c).(d)and (e)

Options :

61547546109, 1
61547546110 2
61547546111 3
61547546112, 4

Question Number : 3 Question Id : 61547511827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

61547546109, 1
61547546110 2
61547546111, 5
61547546112 4

Question Number : 4 Question Id : 61547511828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options :

615475461131
61547548114 2
61547546115, 5
61547546116 4

Question Number : 4 Question Id : 61547511828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :
51547546113, 1
61547545114 2
E1547548115 3
BE15475465116 4

Question Number : 5 Question Id : 61547511829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment {(2) Summative assessment

(3) Portfolio assessment {4) Performance assessment
Options :

61547546117, 1
61547546118, 2
E1547548118. 3
E1547546120. 4

Question Number : 5 Question Id : 61547511829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

B1547546117. 1
61547548118, 2
615475461149, 3
61547545120, 4

Question Number : 6 Question Id : 61547511830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applhied research paradigm (4) Action research paradigm
Options :

61547545121, 1
E1547548122. 2
E1547546123. 3
61547548124, 4

Question Number : 6 Question Id : 61547511830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547548121. 1
B1547546122 2
61547548123, 3
61547546124, 4

Question Number : 7 Question Id : 61547511831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A researcher intends to make use of ICT in his'her research. What considerations should
weigh most 1n such a decision?

(a) Appropriateness of the tool used

(b) Cost involved 1n procuring it

(c) Availability of tools in the department where research 1s to be undertaken
(d) Willingness of his/her supervisor to offer help

(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (¢) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options :

615475481251
61547546126, 2
61547546127, 3
61547545128, 4



Question Number : 7 Question Id : 61547511831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547546125. 1
61547546126 2
B1547548127. 3
61547546128, 4

Question Number : 8 Question Id : 61547511832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following sampling procedures will be appropriate for conducting researches
with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure
(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options :

61547546129, 1
61547546120 2
61547548131 2
61547546122, 4

Question Number : 8 Question Id : 61547511832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546129, 1
61547546130 2
61547546131, =
1547546132 4

Question Number : 9 Question Id : 61547511833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following formats ‘Chapter Scheme’ of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options :

E1547546133. 1
B1547546124. 2
61547548135 3
61547546136, 4

Question Number : 9 Question Id : 61547511833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547548123. 1
E1547546134. 2
51547546135 3
61547548136, 4



Question Number : 10 Question Id : 61547511834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an 1nstance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options :

E1547546137. 1
61547548138, 2
61547548135, 3
61547545140, 4

Question Number : 10 Question Id : 61547511834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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61547546137, 1
61547545138, 2
E1547548139. 3
E1547546140. 4

Question Number : 11 Question Id : 61547511835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. it can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options :

61547545141, 1
E1547548142. 2
E1547546143. 3
B1547546144. 4

Question Number : 11 Question Id : 61547511835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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515475451411
61547546142 2
61547546143, 3
E1547548144. 4

Question Number : 12 Question Id : 61547511836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information overload in a classroom evnironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayved feedback
Options :

61547545145 1
E154754814E. 2
E1547546147. 3
B1547546148. 4

Question Number : 12 Question Id : 61547511836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547545145 1
61547546146, 2
61547546147, 3
615475451485, 4

Question Number : 13 Question Id : 61547511837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3 Presentation without pause

(4) Resorting to semantic jugglery
Options :
1547546149 1
£1547546150 2
1547546151 2
1547546152 4

Question Number : 13 Question Id : 61547511837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547548149. 1
E1547546150. 2
51547546151, 3
61547548152, 4

Question Number : 14 Question Id : 61547511838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following modes of communication can be employed in a classroom for effective
teaching?
(a) Top-down

(b) Iconie
(c) Associational
(d) Dissociational

(e) Syvmbolic
() Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and (f) (2) (). (e)and (D
(3) (b). (c) and (e) (4) (a). (c) and (d)
Options :

61547545152 1
E1547548154. 2
E1547545155. 3
61547545156, 4



Question Number : 14 Question Id : 61547511838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547546153. 1
61547548154, 2
61547548155 3
61547546156, 4

Question Number : 15 Question Id : 61547511839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang 1n formal teaching makes communication lively and
interesting.

Eeasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1z not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

{4) (A) 1= false. but (R) 1s true



Options :

61547546157, 1
1547546158 2
61547548159 2
61547546160, 4

Question Number : 15 Question Id : 61547511839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
615475465157 1
615475468158 2
61547545159 5
E1547548160. 4

Question Number : 16 Question Id : 61547511840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a certain coding language. "AEIOU" 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV" will be written as

(1) UOIEA (2) AEIOU
(3) CGKQW (4) WQKGC
Options :

E1547546161. 1
61547548162, 2
61547548163, 3
61547545164, 4

Question Number : 16 Question Id : 61547511840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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(1) UOIEA (2) AEIOU
(3) CGEQW 4) WQKGC
Options :

61547548161, 1
61547548162, 2
61547546163, 3
61547545164, 4

Question Number : 17 Question Id : 61547511841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 3% of (a+b) = 7% of (ab)
and 5% of (@ —b) = 4% of (ab).

then what percentage of b 1s a?

47 23

1 9y 290
AT @ G”
@ (A0, @ 2300,
23 47
Options :

E1547548165. 1
E1547546166. 2
61547548167, 3
615475461658, 4

Question Number : 17 Question Id : 61547511841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If% (a+b) F1 3% = (ab) #1 7% #
A1 (@ —b) F1 5% = (ab) 1 4% 2

T b =1 a e gfasE 27

47 23
1 S, - 9 il
B g T
(3) i % (4) ol %
28 47
Options :

E1547548165. 1
E1547546166. 2
B1547548167. 3
61547548168, 4

Question Number : 18 Question Id : 61547511842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) —52 (2) 52
(3) 64 (4) —64
Options :

61547548165 1
61547546170, 2
61547545171, 3
E1547548172. 4

Question Number : 18 Question Id : 61547511842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) —52 (2) bH2
(3) 64 (4) 64
Options :

61547546169 1
61547545170, 2
E1547548171. 3
E1547546172. 4

Question Number : 19 Question Id : 61547511843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A certain principal invested at compound 1nterest pavable yvearly amounts to Rs. 10816.00 1n
3 vears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

(1) 3% (2) 4%
(3)  4.5% (4) 5.5%

Options :

61547546173,
61547546174,
£154754E8175.
61547546176,

o IR

Question Number : 19 Question Id : 61547511843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 3% (2) 4%
(3) 4,5% (4) 5.5%
Options :

61547546173 1
61547545174, 2
E1547546175. 3
B1547546176. 4

Question Number : 20 Question Id : 61547511844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the exact equivalent discount of three successive discounts of 10%. 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3)  35.5% (4) 38.8%
Options :

B1547546177. 1
61547548178, 2
61547546179, 3
61547545180, 4

Question Number : 20 Question Id : 61547511844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 35.8% (2) 38.5%
(3) 35.5% (4) 38.8%
Options :

E1547548177. 1
E1547546178. 2
B1547546179. 3
61547545180, 4

Question Number : 21 Question Id : 61547511845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following hetwabhasa (fallacy) 1s involved in the argument, “Sound 1=
element because 1t 1= cauzed”?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle

(3) Sadh}'asama or the unproved middle

(4) Badhita or non-inferentially contradicted middle
Options :
615475461511
61547546182 2
61547546153 2
1547546154, 4

Question Number : 21 Question Id : 61547511845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547548181, 1
61547546182 2
61547545182, 3
E1547548184. 4

Question Number : 22 Question Id : 61547511846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1)  IAI (2) TAA
(3) IIA (4) AII
Options :

61547546185 1
61547546186, 2
E1547548187. 3
E1547546188. 4

Question Number : 22 Question Id : 61547511846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  IAI (2) IAA
(3) ITA (4) AII
Options :

615475461851
61547545186, 2
E1547548187. 3
E1547546188. 4

Question Number : 23 Question Id : 61547511847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 12 converse of ‘Some S 13 P*?

(1) Some S 1s not P (2) SomePisnotS
(3 Some Pi1s S (4) NoPisS
Options :

61547546189, 1
61547545130, 2



E15475461391. 3
61547548152, 4

Question Number : 23 Question Id : 61547511847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F3 S, P 7 - o Yadm Hefiigd 9 o HiEE 27

(1) F3 8. P 7 (2 T3PS
3 FTP.S*E (4) FEP ST
Options :

E1547546189. 1
515475461390, 2
615475481391, 3
61547546132, 4

Question Number : 24 Question Id : 61547511848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following fallacious hetu {middle term) is not uniformly econcomitant with
the major term?

(1) Asatpratipaksa (2) Auyvatireka
(3 Anvonya-Asiddha (4) Suyabhicara
Options :

61547545192, 1
E15475481394. 2
515475461395 3
615475451396, 4

Question Number : 24 Question Id : 61547511848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fAfefiga # o F6T 90l 2 #1859 UF & @9 F9 § G T8 8 7

(1) =g vfaes (2) =T

(3) = g (4) T=ER
Options :

E1547546193. 1
61547545154, 2
61547545135 3
6154754651396, 4

Question Number : 25 Question Id : 61547511849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to classical Indian school of logic. what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upanaya. Pratijna, Hetu. Ud&aharana . Nigmana

(2) Prat.ijﬁa, Hetu. Upanaya, Udaharana , Nigmana
(3 Pratyna, Upanaya. Hetu, Udaharana . Nigmana

e

(4) Pratiyna. Hetu. Udaharana . Upanaya, Nigmana

Options :

61547546197, 1
61547546198 2
615475461499 3
61547548200, 4

Question Number : 25 Question Id : 61547511849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 3=, ufasm, =4, 32, e (2) wfas, =4, 3999, 3=, e
(3 TfasT, 39, ﬁ'?—g 3ETE, e (4) e ?:'FE 3, 39, FEA
Options :

615475451397, 1
E15475481395. 2
51547546199, 3
61547546200, 4

Sub-Section Number: 2
Sub-Section Id: 615475510
Question Shuffling Allowed : Yes

Question Id : 61547511850 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers in the parenthesis give the maximum marks In
each subject. Answer the given guestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of — , : :

SRt Maths | Chemistry | Physies Biclogy Englhish
(150) (130) (120) (100) (100)

Anlkat a0 50 80 60 70

Amar 100 60 70 40 80

Sanva a0 60 85 80 G0

Rahul S0 7D G5 90 a0

Puneet S0 20 70 85 50

Pooja 70 i) 50 80 40

Sub questions

Question Number : 26 Question Id : 61547511851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the overall percentage of marks obtained by Amar?

(1) T0% (2) 7T2%
(3) 60% (4) 58.33%

Options :
E1547546201.

E1547548202.
E1547546203.
B1547546204,

[ N

Question Number : 27 Question Id : 61547511852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was the aggregate of marks obtained by Sanya in all the five subjects?

(1) 375 (2) 395
(3) 455 (4) 475

Options :
E154754E8205.

E15475482086,
E1547546207.
51547548208,

[ N S

Question Number : 28 Question Id : 61547511853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What 1s the average marks obtained by all the six students in Chemstry?

(1) 86.66 (Z)y 76.66
(3) 66.66 (4) 60.00
Options :

51547546209, 1
61547546210, 2
61547546211, 3
61547546212, 4

Question Number : 29 Question Id : 61547511854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (Z)y Two
(3) One {4y Zero
Options :

E1547548213. 1
E1547546214. 2
B1547546215. 3
61547546216, 4

Question Number : 30 Question Id : 61547511855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject the performance of the students iz worst in terms of percentage of marks?

(1) Chemustry (2) Physies
(3) Biology (4) Enghsh
Options :

B1547546217. 1
61547546218, 2
61547546219, 3
61547546220, 4

Question Id : 61547511850 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cestion Lakel Comprehension



Frefefga arferm % mrom @ At e # 20 a6l g s Pm-fa fe J g i siema Figaen
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— ITH ST i aiaeEdr (%)
(A=A 37F)

=9 F T g A itgh | SE-fagE | e
(150) (130) (120) (100) (100)

At 90 50 80 60 70

I 100 60 70 40 80

A= 90 60 85 80 60

TEd 80 75 65 90 90

gt 80 80 70 85 50

Ll 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 61547511851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) T0% (2) 72%

o2
%]
L
=
s ]

(3)  60% (4) s8.
Options :
51547548201,
E154754E8202.
E1547546203.
61547546204

[ N

Question Number : 27 Question Id : 61547511852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 9T faw=i | J=7 & g g g R 2

(1) 37

o
LA

LA

(2)

n
N

(3) 4 (4) 475

Options :

E154r54E8205.
E1547546206.
E15475468207.
E15475468208.

e LI M



Question Number : 28 Question Id : 61547511853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
mH fagm 1 a5 st F1 ofiga T T o 2 7

(1) 86.66 {(2) 76.66
(3) 66.66 {4y 60.00
Options :

E1547548208. 1
E1547546210. 2
61547546211, 3
61547546217, 4

Question Number : 29 Question Id : 61547511854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Tt fawa] @ foha =1 7 60% =1 SHE AT 379 TH T AT

- -

(1) A (2) =
(3) T (4) 7=
Options :

61547546212 1
E1547546214. 2
E1547546215. 3
B1547546216. 4

Question Number : 30 Question Id : 61547511855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

sl =i ufaeraar 61 28§ e fawg O el %1 foes gy wue wr A e

(1) HEE FEE (2) Hiew-TagE
(3 == A (4) U
Options :

61547546217, 1
615475462158, 2
E1547548219. 3
E1547546220. 4

Sub-Section Number: 3
Sub-Section Id: 615475511
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 61547511856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Prnting
Options :

61547546221, 1
E1547548222. 2
B1547546223. 3
B1547546224. 4

Question Number : 31 Question Id : 61547511856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  =uEa (efsf) 0
Gy i () (4) Fgw (Tfe)
Options :

E1547548221. 1
B1547546222. 2
B1547546223. 3
61547546224, 4

Question Number : 32 Question Id : 61547511857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options :

E1547546225. 1
B1547548226. 2
B1547548227. 3
61547546225, 4

Question Number : 32 Question Id : 61547511857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1024 UZraEeg (2) 1024 TIEEE
(3) 1024 fei=TEeH (4) 1024 wEeH
Options :

615475465225 1
E154754B6226. 2
E1547546227. 3
B1547546228. 4

Question Number : 33 Question Id : 61547511858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiFi (2) Bluetooth
(3)  Modem (4) USB
Options :

E1547546229. 1
E1547546230. 2
61547546231, 3
61547546232, 4

Question Number : 33 Question Id : 61547511858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T AR SRR B A g % S % A (o0 Seie 9 A i B w
1) AEEE @ =M
(3)  =i=A (4) FuHs

Options :

61547546229, 1
61547548220 2
61547546221, 5
61547546232 4

Question Number : 34 Question Id : 61547511859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options :

61547548232, 1
E1547548234. 2
E1547546235. 3
B1547548236. 4

Question Number : 34 Question Id : 61547511859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  OIEES F9H2 SeiwTe (2) TITEE ®9H 22 ieTE
(3) U HUHE AT (4) Ui FUMZ T2
Options :

61547548232, 1
E1547548234. 2
E1547546235. 3
B1547548236. 4

Question Number : 35 Question Id : 61547511860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The national agency for responding to computer security incidents as and when they occur.

15

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options :

BE1547546237. 1
61547546238, 2
61547546239, 3
61547546240, 4

Question Number : 35 Question Id : 61547511860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) #Hiod (2) HFTH
(3) Hidiw (4) a1 i F WE A
Options :

E1547548237. 1
E1547546238. 2
61547546239, 3
61547546240, 4

Question Number : 36 Question Id : 61547511861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transhoundary movement of hazardous waste
Options :

E1547546241. 1
B1547546242 2
61547546243, 3
61547546244, 4

Question Number : 36 Question Id : 61547511861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(4) TS SIS % T % At g9 W T

Options :
61547546241, 1
61547546242 2



E1547546243. 3
61547546244, 4

Question Number : 37 Question Id : 61547511862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under Green India Mizzion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
{3) 08 million hectares (4) 20 million hectares
Options :

E1547546245. 1
B154754624E. 2
61547546247, 3
615475462458, 4

Question Number : 37 Question Id : 61547511862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 02 fafe=m 22w (2) 06 W= 29T
(3) 08 TaferEa s#em (4) 20 TafeEm 29em
Options :

61547546245 1
61547546248, 2
E1547548247. 3
E1547546248. 4

Question Number : 38 Question Id : 61547511863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The themes of some Sustainable Development Goals are

{a) Chmate action

(h) Sustainable citiez and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
{e) Green agriculture

(f) Rezponsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b), (c). (e) and ()
{(2) {(b). {e). {e) and (D
(3) (h). {e). {d). (e} and (f)
(4) (a). (b). (¢) and ()

Options :

61547548249 1
61547546250, 2
61547546251, 5
61547546252 4

Question Number : 38 Question Id : 61547511863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a). (b). (c). (e) 3T (D
(2) (b). (c). (e) 3T (P
(3) (b). (c). (d). (e) 3T (P

(4)  (a). (b). (c) FHIT (f)
Options :
1547548245 1
1547546250 2
1547546251 2
1547546252 4

Question Number : 39 Question Id : 61547511864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The most dominant source of Benzene emissions in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options :

E1547548253. 1
E1547546254. 2
61547546255, 3
61547546256, 4

Question Number : 39 Question Id : 61547511864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  =mez 3= @ iz
(3) =R s (4) Uz 3 Fihm
Options :

61547548253, 1
61547546254, 2
61547546255, 3
E1547548256. 4

Question Number : 40 Question Id : 61547511865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most important pollutants that cause degradation of water gquality 1n mvers and streams
are

(a) Bacteria

(b) Nutrients

{c) Metals

(d) Total dissolved sohds
(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a), (b) and (c) (2) (a). (b) and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c). (d) and (e)
Options :

E1547548257. 1
E1547546258. 2
61547546259, 3
61547546260, 4

Question Number : 40 Question Id : 61547511865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(e)  Stare

fefertias fempel | & wailoss SUge =07 =1 =99 i

1) (@), ®) 7 (@ 2 (a). (b) 37 (d)

3) (@ (b). () = (o) @ (@. D). ©. (D ()
Options :

B1547546257. 1
61547546258, 2
61547546259, 3
61547546260, 4

Question Number : 41 Question Id : 61547511866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Databazse WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options :

61547548261, 1
61547546262, 2
61547546263, 3
E154754E8264. 4

Question Number : 41 Question Id : 61547511866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ZEEE %Y 31 TH 2

(1) =9 A% =W (2) T T T
(3) IS ATF A (4) == ATF WEE
Options :

61547548261, 1
E1547546262. 2
61547546263, 3
E1547546264. 4



Question Number : 42 Question Id : 61547511867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The major barriers for access to higher education in India are :

(a) more opportunities of emplovment for less educated
(h) government policies

() language of iInstruction

(d) economic status

(e) competition from forelgn universities

(£) gender discrimination 1n society

Choose the correct answer from the options given below :

(1) (a). (b) and (c) (Z) (b). (c) and (e)
(3) (e). (d) and (D) (4) (d). (e) and (D
Options :

615475465265, 1
E1547546266. 2
E1547546267. 3
61547548268, 4

Question Number : 42 Question Id : 61547511867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HE o T frar i afiemar § qeg Sy 7 o

(b)  FEHRI At
()  FAISTH T 9T
(d) et feafa

(€) et fervafammeat & ufaega
)  FETe § gfeen gedl 929E

H= fou o fawedt 4 @ w8 fase 9fm

(1)  (a). (b) 37 (0) (2 (b). (©) (o)

3) (o). (@ IR (B @) (d). (e) 3 ®
Options :

61547546265, 1
61547546266, 2
E154754B8267. 3
B1547546268. 4

Question Number : 43 Question Id : 61547511868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity 1n the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector {(4) global marketplace
Options :

51547548269, 1
61547546270, 2
61547546271, 3
E1547546272. 4

Question Number : 43 Question Id : 61547511868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WU F TH (SR SR HEs wee " gHEar) F oAgEn 3= foen e e afes = e

(1)  =ie =0 & @ wrhe i
(3) =TT &3 (4) Afvas =R =
Options :

51547546269, 1
B1547546270. 2
61547546271, 3
61547546272, 4

Question Number : 44 Question Id : 61547511869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umiversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees, all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever mayv be the degree or diploma. autonomous colleges can grant them under

their own name but under the seal of an affiliated university

Options :

61547546273, 1
61547546274 2
61547546275 2



BE1547546276. 4

Question Number : 44 Question Id : 61547511869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547546273, 1

E1547548274. 2
E1547546275. 3
B1547546276. 4

Question Number : 45 Question Id : 61547511870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher
Education System :

(a) Equity

(b) Access

(e) 20% GER

(d) Excellence

Choose the correct option from those given below :

(1) (a). (b) and (c)
(2) (a), (c¢) and (d)
(3)  (a). (b) and (d)
(4)  (b). (c) and (d)

Options :

61547548277 1
1547546278, 2
61547546279, 5
61547546280 4



Question Number : 45 Question Id : 61547511870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S 9T SonTel 7 TP Swe e At (s g e v) Fefetea w5 w1 w o agar

{d:' :l'__r_-
= fou T famedl § § A faewes g

(1)  (a). (b) 31 (o)
(2)  (a). (c) T (d)
(3)  (a). (b) HT (d)
4)  (b), (c) ¥ (d)
Options :
61547546277, 1
61547546278, 2

B15475462759. 3
61547546280, 4

Sub-Section Number: 4
Sub-Section Id: 615475512
Question Shuffling Allowed : Yes

Question Id : 61547511871 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
important role in the hiberal ertique. But liberalism i1z neither the consequence nor the
development of these: rather. the market played. in the hiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade in the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore, an anlavsis to make
visible. in the form of evidence, the formation of the value and cwrculation of wealth—or. on
the contrary. an analyvsis pre-supposing the intrinsic mvisibility of the connection between
individual profit-seeking and the growth of collective wealth—economies, 1n any case, shows a
basic Incompatibility between the optimal development of the economic process and
maximisation of government procedures. It 13 by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed 1t at the hmit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economic analvsis. It 18 not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 61547511872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalizm as an offshoot of political economy
(3) EReality of market
(4) Political economy as a practice

Options :

61547546251, 1

1547546252 2

E154754E283 2

R W Y T

Question Number : 47 Question Id : 61547511873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The liberal critique examined the implications of

(1) market expansion (2) too much governance

(3) growth of polhitical economy (4) politics of marketisation

Options :



E1547546285. 1
B1547548286. 2
61547546287, 3
61547546288, 4

Question Number : 48 Question Id : 61547511874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What kind of evidence was needed to make the liberal critique vizible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth in supply of grain (4) Incompatibility of growth
Options :

E1547546289. 1
61547546230, 2
61547546231, 3
61547546232, 4

Question Number : 49 Question Id : 61547511875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 13 incompatible with optimal economic development?

(1) Play of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options :

E1547546293. 1
B1547546294. 2
615475462385, 3
61547546236, 4

Question Number : 50 Question Id : 61547511876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The passage 1s indicative of the author’s preference to

(1) economic hegemony of individuals
(2) limit government control of economics
(3) seek liberalism from juridical thought

(4) promote individual profits

Options :



B1547546297. 1
61547546258, 2
615475462595, 3
61547546300, 4

Question Id : 61547511871 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 61547511872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o L B . s
IEETE] TarAT § efefiga § | feeh it w27

(1) SRR & THOTHEEY 32RdATE (2) TSGR AUSHIEYT W GRS 380AE
(3) =R I ArAtaEl (4) =FER % TY § TSGR ATy
Options :

61547546281, 1
E1547546282. 2
E154754E8283. 3
E1547546284. 4

Question Number : 47 Question Id : 61547511873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547548285, 1
61547546286, 2
E1547546287. 3
E154754E8288. 4

Question Number : 48 Question Id : 61547511874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3) = F g F (4) T 1 SHE =
Options :

61547546289, 1
E1547548230. 2
E15475462391. 3
B1547546292. 4

Question Number : 49 Question Id : 61547511875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546293, 1
61547546294 2
61547546295 2
61547546296 4

Question Number : 50 Question Id : 61547511876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546297, 1
615475482498 2
61547546299, 5
61547546200 4

PART Il Hurman Rights And Duties

Section Id : 615475158

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questions to be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 615475513
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547511877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Peace and development come under which category of rights?

(1) First generation rights (2) Second generation rights
(3) Third generation rights (4) Bill of rights
Options :

61547545301, 1
E15475462302. 2
E1547546203. 3
51547545204, 4

Question Number : 51 Question Id : 61547511877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546201, 1
61547546302, 2
E1547548203. 3
E1547546204. 4

Question Number : 52 Question Id : 61547511878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a civil and political rights under American Convention on
Human Rights?

(1) Right to Privacy (2) Right to expression of thoughts
(3) Right to personal liberty (4) Right to education
Options :

61547548205, 1
61547546206, 2
61547545307, 3
E1547548308. 4

Question Number : 52 Question Id : 61547511878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546305, 1
E1547548308. 2
E1547546207. 3
51547546208, 4

Question Number : 53 Question Id : 61547511879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which article of the International Convention and Declaration on child deals with children
with disability?

(1) Article 32 (2) Article 23
(3) Article 34 (4) Article 37
Options :

61547545309, 1
E1547546210. 2
E1547546211. 3
B154754621%2. 4

Question Number : 53 Question Id : 61547511879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) =g 32 (2) SAT%es 23
(3)  FI=g 34 (4) =9z 37
Options :

61547548205, 1
61547546210, 2
61547546311, 3
61547546312, 4

Question Number : 54 Question Id : 61547511880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“I hate democracy because I love freedom”. This statement belongs to which school of

political thought?

(1) Conservatism (2) Liberalism
(3) Totalitarianism (4) Anarchism
Options :

61547546313 1
E1547548214. 2
E1547546215. 3
E1547546216. 4

Question Number : 54 Question Id : 61547511880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) E'j;?f: 4 (2) SoRIl”
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Options :

61547546313 1
E1547548214. 2
E1547546215. 3
E1547546216. 4

Question Number : 55 Question Id : 61547511881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
India 1z a founder member of

(1) UNDP (2) ILO
(3) Amnesty International (4) Red cross
Options :

615475462171
61547546318, 2
61547545319, 3
E1547548320. 4

Question Number : 55 Question Id : 61547511881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YHd TR HaH & @
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(3) UHEE] 22U (4) I FE
Options :

B1547546217. 1
61547546218, 2
61547546319, 3
61547545320, 4

Question Number : 56 Question Id : 61547511882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Indian parliament passed the unorganised worker’s social security bill in

(1) 2000 (2) 2003
(3) 2005 (4) 2008
Options :

61547546321, 1
E1547546322. 2
E154754E8323. 3
E15475462324. 4

Question Number : 56 Question Id : 61547511882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 2000 (2) 2003
(3) 2005 (4) 2008
Options :

61547548221, 1
61547546322 2
61547546323, 3
E1547548324. 4

Question Number : 57 Question Id : 61547511883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which article of the Unmiversal Declaration of Human Rights mentions - “All human beings

are born free and equal 1n dignity and rights™?

(1) Article 1 (2) Article 4
(3) Article 19 {4y Article 21
Options :

B15475462325. 1
61547546326, 2
61547546327, 3
6154754653258, 4

Question Number : 57 Question Id : 61547511883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1) =g ] Q) =T 4
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Options :

61547546325 1
61547546326, 2
E1547546327. 3
B15475462328. 4

Question Number : 58 Question Id : 61547511884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who states, “State i1s the temple of human freedom”™

(1) Thomas Hobbes (2) Gramsci
(3) Hegel (4) T.H. Green
Options :

E1547546229. 1
61547546230, 2
61547546321, 3
61547546332, 4

Question Number : 58 Question Id : 61547511884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E15475462329. 1
61547546230, 2
61547546221, 3
61547546332, 4

Question Number : 59 Question Id : 61547511885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fundamental Rights are mentioned in which part of the Indian Constitution?

(1) Part 1 (2) Partll
(3) Part 111 (4) PartlV
Options :

615475468233, 1
61547546334, 2
61547545335, 3
E15475482336. 4

Question Number : 59 Question Id : 61547511885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) -1 (2) Hr-11
(3) g -111 (4) Hm-1V
Options :

E1547546233. 1
61547546234, 2
61547546235, 3
61547546336, 4

Question Number : 60 Question Id : 61547511886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an International NGO?

(1) Amnesty International (2) Red Cross Society
(3) Green Peace (4) PUCL
Options :

E15475482337. 1
E1547546238. 2
61547546239, 3
61547546240, 4

Question Number : 60 Question Id : 61547511886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154754683357, 1
E1547548338. 2
E1547546239. 3
61547546240, 4

Question Number : 61 Question Id : 61547511887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following treaties has received largest number of ratification by UN member
states?

(1) The convention on the Prevention and Punishment of the Crime of Genocide

(2) The convention on the Right of the Child

(3) The convention relating to the Status of Refugees
(4) The Declaration on the Elimination of all forms of discrimination
Options :

61547546241, 1
61547546342 2
61547546343, 3
E1547548344. 4

Question Number : 61 Question Id : 61547511887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

eAfaRad g9gial 9 9 Y 99® T 965 ol & A4ii9% G 4 FATEHE T g9 27

(1) W UER & AWY & Hano w3 22 9 e Afgemy
(2) =T FAUFEE AHEE
(3) Tt i feuty § geatag wigeag
(4)  Ta9e & ) gl % U § geiad Aaeny
Options :
£1E547546=241 1
1547545242 2
E1E47E4AdEZAZ =2
1547545244 4

Question Number : 62 Question Id : 61547511888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“One caste, one religion, one God for men”, it is stated by whom?

(1) Dayanand Saraswati (2) Narayan Guru
(3) Swami Vivekanand (4) dJyotiba Phule
Options :

61547546345 1
61547545346, 2
E15475462347. 3
E1547546248. 4

Question Number : 62 Question Id : 61547511888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
: - [ {d 5 r 2 e - -z
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(1) I et (2) TE T
(3) T fTEawEs (4) arfael
Options :

61547546345 1
E154754E834E. 2
E15475462347. 3
B1547546248. 4

Question Number : 63 Question Id : 61547511889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Sunil Batra Vs. Delhi Administration, AIR, 1983 case, the Supreme Court considered the

question of

(1) Solitary Confinement (2) Third degree methods
(3) Arrest on political grounds (4) Passive Euthenesia
Options :

E1547546249. 1
E1547546250. 2
615475462351, 3
61547546352, 4

Question Number : 63 Question Id : 61547511889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546249, 1
615475463250 2
61547548351 2
61547546352, 4

Question Number : 64 Question Id : 61547511890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term ‘Social Justice’ was first used in 1840 by whom?

(1) T.H. Green (2) Leslie Stephen
(3) Luigi Taparelli d’Azeglio (4) Henry Sidgwick
Options :

61547548353, 1
615475462354, 2
61547546355, 3
61547545356, 4

Question Number : 64 Question Id : 61547511890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547548353, 1
61547546354, 2
61547546355, 3
E154754E8356. 4

Question Number : 65 Question Id : 61547511891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who established “Bahishkrit Hitakarini Sabha” to promote the spread of education among

the depressed classes?

(1) Vinoba Bhave (2) B.R. Ambedkar
(3) Mahatma Gandhi (4) R.N. Tagore
Options :

E1547548357. 1
E154754E8358 2
E15475462359. 3



E1547546360. 4

Question Number : 65 Question Id : 61547511891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ifa 9T & Te e % TR 1 edited # % e afeseg ool g e onfie
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Options :

61547546357, 1
61547546358, 2
61547545359, 3
E1547546360. 4

Question Number : 66 Question Id : 61547511892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Jyotiba Phule revolted against

(1) Economic disparity (2) Plight of women
(3) Caste gystem (4) Sati Pratha
Options :

61547546361, 1
E1547546362. 2
B1547546363. 3
615475462364, 4

Question Number : 66 Question Id : 61547511892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

B1547546261. 1
61547546362, 2
61547546363, 3
61547545364, 4

Question Number : 67 Question Id : 61547511893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following Rights man did not have in Locke’s State of Nature?

(1) Right to Life (2) Right to Liberty
(3) Right to Kill (4) Right to Prosperity
Options :

E1547548365. 1
E1547546366. 2
B1547548367. 3
61547546368, 4

Question Number : 67 Question Id : 61547511893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) <= &1 AaFR (2) TEAIAT F AGER
(3)  ECA1 & AGFKR (4) wofg =1 sAfaan
Options :

51547548365, 1
61547546366, 2
61547546367, 3
6154754653658, 4

Question Number : 68 Question Id : 61547511894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The right to protect freedom in areas such as belief, expression, association, assembly and

movement comes under which rights?

(1) Liberty rights (2) Political rights
(3) Equality rights (4) Welfare rights
Options :

E1547546269. 1
615475462370, 2
61547546371, 3
61547546372, 4

Question Number : 68 Question Id : 61547511894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475465369, 1
E15475462370. 2
B15475462371. 3
B1547548372. 4

Question Number : 69 Question Id : 61547511895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following. Right to Development 1s NOT mentioned ?

(1) The 2000 Millennium Declaration
(2) The 2001 Durban Declaration
(3) The 1981 African Charter of Human and People’s rights

(4) Vienna Conference 1993
Options :
61547546373 1
E1547546374. 2
£154754E6375 2
61547546376 4

Question Number : 69 Question Id : 61547511895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  TEsETes 9199 2000 (2) S=H =WIT 2001

(3)  AME U ATYFE F HE 9L 1981 (4) =531 F969 1993
Options :
E1E47546273 1
1547545274 2
E1547E4E275 2
E1E4754E27E. 4

Question Number : 70 Question Id : 61547511896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The author of an Article titled “The Human Rights Debate in an Era of Globalization :
Hegemony of Discourse”, is

(1) Richard Falks (2) Richard Barnet
(3) Nikhil Aziz (4) Kofi Annan
Options :

61547546377, 1
61547546378, 2
61547546379, 3
E15475462380. 4

Question Number : 70 Question Id : 61547511896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“% BYEA T22d f26Z 39 U 1 ATE TASAZHYH ¢ geAnA] AT B ot W o oG T

(1) T== %G (2) =8 e
(3) fga == (4)  FTH
Options :

E15475482377. 1
E15475462378. 2
615475462375, 3
615475462380, 4

Question Number : 71 Question Id : 61547511897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which government in 2000 set up International Commission on Intervention and State
Sovereignty?

(1) The US Government (2) The Denmark Government
(3) The Canadian Government (4) The France Government
Options :

E15475462381. 1
B1547546382. 2
61547546383, 3
61547546354, 4

Question Number : 71 Question Id : 61547511897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



E15475462381. 1
61547546382, 2
61547546383, 3
61547546354, 4

Question Number : 72 Question Id : 61547511898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many judges are there in Inter American Court of Human Rights?

(1) 7 (2) 8
(3) 9 (4) 10
Options :

615475462385, 1
61547546386, 2
61547546387, 3
E154754E8388. 4

Question Number : 72 Question Id : 61547511898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= & 7 JHE IEea § et I3 27

(1) 7 2 B
(3) 9 (4) 10
Options :

615475462385, 1
61547546386, 2
61547546387, 3
E154754E8388. 4

Question Number : 73 Question Id : 61547511899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which theory argues that if there i1s a right to national self determination, it must be a

collective right?

(1) Fascism (2) Communitarianism
(3) Individualism (4) Conservatism
Options :

615475465359, 1
E15475462330. 2
E15475462391. 3
61547546352, 4



Question Number : 73 Question Id : 61547511899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546389, 1
61547546330, 2
E15475483591. 3
E1547546392. 4

Question Number : 74 Question Id : 61547511900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

nder which Article, the President of India enjoys the power to make order in respect of
Und hich Article, the P dent of Ind joys the p t k d pect of
persons under the preventive detention in certain cases

(1) Article 173 (2) Article 192
(3) Article 253 (4) Article 373
Options :

6154754623593, 1
615475463394, 2
61547546335, 3
E154754E83596. 4

Question Number : 74 Question Id : 61547511900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  9=a8 173 (2) #FT=us 192
(3) =95 253 (4) =3 373
Options :

61547546392 1
61547545394, 2
E1547548385. 3
E1547546396. 4

Question Number : 75 Question Id : 61547511901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who said Locke’s theory of natural rights as simply non sense?

(1) J.5. Mill (2) J. Bentham
(3) Hegel (4) Karl marx
Options :

E15475482397. 1
E1547546398. 2
615475462395, 3
61547546400, 4

Question Number : 75 Question Id : 61547511901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT o SHRTE ATTEAT 6
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(1) S.uE. = (2) . =
(3) (4) FeHH
Options :

E15475462397. 1
615475462398, 2
61547546399, 3
61547545400, 4

Question Number : 76 Question Id : 61547511902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a core International Human Rights treaties?

(1) International covenant on civil and political rights

(2) Convention on the rights of the child

(3) Convention on the Nationality of married women

(4) International convention on the protection of the rights of all migrant workers and

members of their families

Options :
1547542401, 1

E1547546402. 2
E1547546403. 3
61547545404, 4

Question Number : 76 Question Id : 61547511902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546401 1
61547546402, 2
61547546402 5
61547546404, 4

Question Number : 77 Question Id : 61547511903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Human Rights may be described as ‘cultural software’ as set of mechanisms of hermeneutic
power that makes it understanding what 1t means, and ought to mean, to be human, Whose
statement is this?

(1) J.M. Balkin (2) Richard Porty
(3) Robert Cover (4) Phallip Atston
Options :

61547545405, 1
E1547548408. 2
E1547546407. 3
51547545408, 4

Question Number : 77 Question Id : 61547511903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AEATEER &1 UF GiFide HF293% & &9 4 HHeE] 5 "6l 2, 1 7 =T 906 &) Fel # G9=
2, 91 =7 g9l 2 T o 29 o1 #m B o F=  =niEn) 98 A feme 27

(1) <04, m@ifead @) =2 i
(3)  TER AR (4) THfeT Temes
Options :

61547545405, 1
E1547546406. 2
B1547546407. 3
51547545408, 4

Question Number : 78 Question Id : 61547511904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who ig the writer of the book ‘Two treaties on Civil Government’?

(1) Rousseau (2) Hobbes
(3) John Locke (4) Bentham
Options :

E154754640%3. 1
E1547546410. 2
61547546411, 3
615475464172 4

Question Number : 78 Question Id : 61547511904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547545409, 1
E15475468410. 2
E1547546411. 3
B154754641%. 4

Question Number : 79 Question Id : 61547511905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The United Nations Conference on Human Rights of 1968 was held at

(1) Geneva (2) Helsinka
(3) Tehran (4) The Hague
Options :

E1547546413. 1
61547546414 2
61547546415 3
615475465416, 4

Question Number : 79 Question Id : 61547511905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475464121
61547546414, 2
61547545415, 3
E1547548416. 4

Question Number : 80 Question Id : 61547511906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who said. “Without democracy. the dictatorship of the proletariat would result in social
oppression”?

(1) Engels (2) Rosa Luxembury
(3) Karl Marx (4) Mao-Tze-Tung
Options :

E1547546417. 1
61547546418, 2
61547546415 3
61547546420, 4

Question Number : 80 Question Id : 61547511906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  Used (2)  TrST AT
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Options :

61547546417, 1
61547546418, 2
E1547548413. 3
E1547546420. 4

Question Number : 81 Question Id : 61547511907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



To monitor the situation in the promotion of women's rights. UN adopted an optional
protocol on the CEDAW Convention in

(1) 1979 (2) 1999
(3) 2000 (4) 2001
Options :

E1547546421. 1
B1547546422 2
61547546423 3
61547546424, 4

Question Number : 81 Question Id : 61547511907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1979 2y 1999
(3) 2000 (4) 2001
Options :

B1547546421. 1
B1547546422 2
61547546423 3
61547545424, 4

Question Number : 82 Question Id : 61547511908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following features of the fundamental rights granted under the Indian
Constitution has been wrongly stated?

(1) These rights are superior to ordinarv labels
(2) These mzhts are absolute and cannot be restricted except during the proclamation of
an emergency
(3) These rights are enforceable through Courts
(4) Some of these rights are available only to Indian Citizens
Options :

61547546425 1
61547546426, 2
E1547548427. 3
E1547546425. 4

Question Number : 82 Question Id : 61547511908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546425 1
61547546426 2
61547546427, 3
E1547548425. 4

Question Number : 83 Question Id : 61547511909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The concept of Rights, Property, Liberty, Equality and Justice are related to

(1) Dictatorship (2) Democracy
(3)  Aristocracy (4) Oligarchy
Options :

61547546429 1
61547545430, 2
E1547548431. 3
E1547546432. 4

Question Number : 83 Question Id : 61547511909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) GIE IR (2) ST
(3) HAliraTaas (4) FHeqad

Options :

61547546429, 1
61547546420, 2
61547546421, 5
61547546422 4

Question Number : 84 Question Id : 61547511910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



European Convention for the protection of Human Rights and Fundamental Freedoms

(ECHR) was incorporated on

(1) 5 December 1952 (2) 3 September 1953
(3) 7 January 1954 (4) 1 May 1955
Options :

E1547546433. 1
B1547546434. 2
61547546435 3
61547546436, 4

Question Number : 84 Question Id : 61547511910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 5 feamr 1052 (2) 3 foaw=r 1053
(3) 7 ST 1954 (4) 192 1955
Options :

615475465432 1
E1547548434. 2
51547546435 3
51547546436, 4

Question Number : 85 Question Id : 61547511911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who used the word ‘'Human Rights’ for the first time?

(1) Thomas Paine (2) Thomas Acquinas
(3 Louis Althusser (4) G.W. Friedrich Hegel
Options :

E1547548437. 1
E1547546438. 2
B1547546439. 3
61547546440, 4

Question Number : 85 Question Id : 61547511911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547546437. 1
61547546438, 2
61547546439, 3
61547546440, 4

Question Number : 86 Question Id : 61547511912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which year the system of women franchise was introduced in United States of America?

(1) 1919 @) 1928

(3) 1945 ) 1571
Options :

61547546441,
61547546442,
61547546443,
£15475d46444

[ N

Question Number : 86 Question Id : 61547511912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1919 (2) 1928
(3) 1945 (4) 1971
Options :

615475464411
61547546442 2
615475465442 3
E1547546444, 4

Question Number : 87 Question Id : 61547511913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who said : “Right is a reasonable claim to freedom in certain Activities”?

(1) Green (2) Wilde
(3) Laski (4) Aristotle



Options :

51547546445 1
61547546446 2
61547548447 2
61547546445, 4

Question Number : 87 Question Id : 61547511913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) amH (2) Higes
(3) AT =h (4) FH
Options :

61547545445 1
E154754844E. 2
B1547546447. 3
61547546448, 4

Question Number : 88 Question Id : 61547511914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Humanitarian Intervention took place in East Timor 1n 1999, Which country was authorised

by UN for the purpose?

(1) Indonesia (2) Australia
(3) Japan {4y USA
Options :

61547546449 1
E1547548450. 2
E1547546451. 3
51547546452, 4

Question Number : 88 Question Id : 61547511914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) GAE I (2) S
(3) S (4 FuETy
Options :

61547545449 1
E1547548450. 2
E1547546451. 3



E1547546452. 4

Question Number : 89 Question Id : 61547511915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to whom Raj dharma is comprehensive and includes the trivarga of Dharma,

Artha and Kama?

(1) Chanakya (2)  Yudhisthira
(3) Jyotiba Phule (4) Ashoka
Options :

61547546452 1
61547545454, 2
E1547548455. 3
E1547546456. 4

Question Number : 89 Question Id : 61547511915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) = (2) AGM
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Options :

61547546453, 1
61547546454 2
61547546455 o
61547546456 4

Question Number : 90 Question Id : 61547511916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The convention of Political Asylum was signed in

(1) 1933 (2) 1953
(3) 1963 (4) 1983
Options :

615475468457, 1
61547546458, 2
61547546459, 3
61547545480, 4

Question Number : 90 Question Id : 61547511916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1933 (2) 1953
(3) 1963 (4) 1983
Options :

E1547546457. 1
61547546458, 2
61547546459, 3
61547546460, 4

Question Number : 91 Question Id : 61547511917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who served as the President of United Nations High Commission for Human Rights?

(a) Zoid Raad al Hussein
(b) Luise Arbour
(c) Ivan Simonovic

(d) Ludwig Bon

Choose the correct options :

(1)  (a)and (b) (2) (b) and (c)
(3) (a) and (d) (4) (c) and (a)
Options :

E1547546461. 1
B154754B6462. 2
61547546463, 3
61547546464, 4

Question Number : 91 Question Id : 61547511917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) 3 (b) (2) (b) AN (c)

(3)  (a) FR (D) (4) (c) 3 (a)
Options :

61547546461, 1
615475465482, 2
E1547546463. 3
B1547546464. 4

Question Number : 92 Question Id : 61547511918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Point out the two political philosophers who propounded dialectic in their analysis

(a) Hobbes
(b) Grotius
(c) Hegel
(d) Marks

Choose the correct option :

(1)  (a) and (b)
(2)  (c)and (d)
(3) (a) and (d)
(4)  (b) and (c)

Options :

1547546465, 1
61547546466, 2
61547546467 o



E1547546465. 4

Question Number : 92 Question Id : 61547511918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(b)  TIEHA
(e) BITA

(d) ==

(1)  (a) K (b)
(2) (c) HT (d)
(3) (a) T (d)

(4) (b) F (c)
Options :
E1547546465. 1
E15475464E8. 2
E1-4r5464E7. 3
15475468468, 4

Question Number : 93 Question Id : 61547511919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The differential and historical responsibility to reduce emission of CO2 to the atmosphere
rests with industrialized and advanced countries. This issue was taken up in which summits
of the world?

(a) Rio Earth Summait

(b) Paris Treaty

(c) Kyoto Protocol

(d) Montreal Treaty

Choose the correct one :

()  (a) and (b)
2 (b and (@)
(3) (a) and (c)

(4)  (c) and (d)
Options :
6154754684659 1
615475468470 2
61547546471 5
E1547548472 4

Question Number : 93 Question Id : 61547511919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) 3 (b)
(2) (b) & (d)
(3) (a) #Hr (c)

(4) (e) HA1 (d)

Options :

61547546469, 1
61547548470, 2
61547546471, o
61547546472 4

Question Number : 94 Question Id : 61547511920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following articles describe about emergency powers of the President of
India

(a) Article 161

(b)  Article 352

(c) Article 248

(d) Article360

Choose the correct option :

(1) {a) and (c)
(2) (b) and (d)
(3) {c} and (d)

(4) {a) and (h)
Options :
E1547548473 1
615475468474 2
615475468475 3
61547546476, 4

Question Number : 94 Question Id : 61547511920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a)  FT=as 161
(b) A= 352
(c) HAI=eg 248
(d) FA=a% 360

r

el faseT I

(1) (a) FHX (o)
(2) (b) 3T (d)
(3) (o) ¥R (d)

4 (a) S (b)
Options :
£1c4r54E8473. 1
E1o4r546474. 2
E154r546475. 3
E154r546476. 4

Question Number : 95 Question Id : 61547511921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who were the leaders of All India Depressed Classes League?

(a) Ambedkar

(b) Jagjivan Ram
(c) Rasiklal

(d) Ramdhan

Choose the correct options :

(1)  (a) and (c)
(2)  (b) and (¢)
(3)  (b)and (d)
4)  (a)and (d)

Options :

61547546477, 1
61547546478 2
615475464793 2
61547548450, 4

Question Number : 95 Question Id : 61547511921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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51547546477, 1
61547546475 2
E1547548479 3
E1547545450 4
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American War of Independence and French Revolution took place respectively in which

year? Choose the correct answer

(a) 1215
(b) 1789
) 1688
d 1776

Choose the correct option :

(1) (a) and (b)
(2) (b) and (c)
(3) (b) and (d)

(4)  (a)and (d)
Options :
51547546451, 1
615475464582 2
E154754E84585. 3
E15475465454 4

Question Number : 96 Question Id : 61547511922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) R (b)
(2) (b) [ (c)
(3) (h) 3T (d)

(4) (a) FT (d)

Options :

615475464581, 1
615475464382 2
61547546453 3
61547546454, 4

Question Number : 97 Question Id : 61547511923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 2 Wrong Marks : 0



In many cases. the International Court had cited the provisions of Universal Declarations of
Human Rights. The important cases are

{a) The Asvlum caze : Columbhia Vs Peru 1950

(b) Hearticanon Vs Canada 1981

{c) Anglo Iranian 1l Co. case 1935

(d) Kevance Ve France 2009

Choose the correct options :

(1) (a) and (¢)
(2) {b) and (c)
(3) (b) and (d)

(4) (a) and (d)

Options :

51547546485, 1
615475464586, 2
61547546487 o
61547546458, 4

Question Number : 97 Question Id : 61547511923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) #T (c)
(2)  (b) F (¢)
(3) (b) # (d)

4 (2
Options :
615475465455 1
61547546456 2
E154754E8457. 3
E1547545488 4
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Which of the following deals with prevention of torture and other inhuman treatment and
punishment?

(a) 1966 International Covenant on Civil and Political Rights

(b) Vienna Convention 1993

(c) Helsinki Declaration

(d) 1948 Universal Declaration of Human Rights

Choose the correct option :

(1)  (a)and (c)
(2)  (a)and (b)
(3)  (c)and (d)
(4)  (a)and (d)

Options :

615475464589, 1
61547546450, 2
61547546491, 5
61547546492 4

Question Number : 98 Question Id : 61547511924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) 3 (e)
(2)  (a) AR (b)
(3)  (c) 3N (d)

4)  (a)#AR(d)
Options :
51547546459, 1
E1547548480 2
E1547545491 3
615475464592 4
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National Human Rights Commission is a

(a) Statutory body
(b) Constitutional Body
(c) Multi Member institution

(d) Executive body

Choose the correct option :

(1)  (a) and (c)
(2)  (b) and (c)
(3)  (b)and (d)
(4)  (a) and (d)

Options :

615475464593 1
61547546404, 2
61547546435 =
61547546496, 4
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(1) (a) A (c)
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Options :

E1547546493. 1
E1-4r546494. 2
E154r546485. 3
£1547546436. 4
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Which of the following two thinkers have made a critique of Orthodox Marxism?

(a) Hegel
(b) Gramescl
(c) Rousseau

(d) Rosa Luxemburg

Choose the correct option :

(1) (a) and (c)
(2) (b) and (c)
(3) (b) and (d)
(4)  (a)and (d)

Options :

E1547546497. 1
E1547546498. 2
E154r546499. 3
£1547546500. 4

Question Number : 100 Question Id : 61547511926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) M (c)
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Options :

61547546497, 1
615475464598 2
615475464599 3
61547546500, 4
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European Court on human rights has taken decisions on Religious symbols and clothings in
many cases : What are they?

(a) Leyla Sahin Vs Turkey

(b) Rafah Parfisiq Vs Turkey

(c) Batasuna and Herri Batasuna Vs Spain

(d) Lautsi Vs Itali

Choose the correct options :

(1) (a) and (c)
2) (b) and (c)
(3) (b) and (d)
(4) (a) and (d)

Options :

61547546501, 1
61547548502 2
61547546502 5
61547546504, 4

Question Number : 101 Question Id : 61547511927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) FX ()
(2) (b) HK (c)
(3) (b) #T (d)

(4) (a) 3T (d)

Options :
1547542501, 1

E1547546502. 2
E1547546503. 3
61547546504, 4
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Correct Marks : 2 Wrong Marks : 0



Which of the following conventions deal with elimination of discrimination against women?

(a) General Assembly Convention in 1979
(b) International Covenant on Civil and Political Rights 1966
(c) Beijing Declaration and platform for Action 1995

(d) International Covenant on Social, Economic and Cultural Rights 1966

Choose the correct options :

(1) (a)and (b)
(2)  (¢)and (d)

(3)  (b)and (d)

4) (a) and (c)
Options :
£154r546505. 1
E1547546506. 2
E154r546507. 3
E154r546508. 4

Question Number : 102 Question Id : 61547511928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) &R (b)
(2) (c) F(d)
(3) (b) 1 (d)

(4) (a) #X ()

Options :

615475468505, 1
61547546506, 2
61547548507 2
61547546508, 4
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Correct Marks : 2 Wrong Marks : 0



In 1814 under the Treaty of Paris which two governments agreed to cooperate in the
suppression of the traffic in slaves.

(a) British Government

(b) U.S. Government

(c) French Government

(d) German Government

Choose the correct options :

(1) (a) and (b)
(2) (b) and (c)
(3) (a) and (c)

4)  (b) and (d)
Options :
£154r546509. 1
E154r546510. 2
£154r546511. 3
£1547546512. 4

Question Number : 103 Question Id : 61547511929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) &7 (b)
(2)  (b) W (c)
(3) (a) T (e)

4)  (b) FT(d)

Options :

61547546509, 1
61547548510 2
61547546511, 5
61547546512 4

Question Number : 104 Question Id : 61547511930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following i1s said to be the largest barriers to the advancement of Human
Rights?

(a) State

(b) NGOs

(c) MNCs

(d) International Institutes

Choose the correct options :

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4) (b) and (d)
Options :
61547548513 1
61547546514, 2
61547546515 5
61547546516 4

Question Number : 104 Question Id : 61547511930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) 1 (b)
(2)  (b) W (c)
(3)  (e) ¥R (d)

(4) (b) #17 (d)

Options :

61547546513 1
61547548514 2
61547546515, 5
61547546516, 4

Question Number : 105 Question Id : 61547511931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 2 Wrong Marks : 0



What are the jurisdiction of American Court on Human Rights?

(a) Contentious
(b) Advisory
(c) Individual applications

(d) Inter State Cases

Choose the correct options :

(1) (a) and (c)

2)  (b)and (c)
3)  (b) and (d)
4)  (a) and (b)

Options :

£1-4r546517. 1
E1547546518. 2
E154r546519. 3
£1547546520. 4

Question Number : 105 Question Id : 61547511931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546517, 1
61547546518, 2
61547546519 2
61547548520 4
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Correct Marks : 2 Wrong Marks : 0



Copyright as part of intellectual property rights protects mainly

(a)
(b)
(c)

(d)

The individual interest of an author relating to intellectual expression of ideas
Not the intellectual expression of indigenous people all over the world as a community

The particular form of expression but also the ideas and thoughts on which the
expression is based

Not the new technologies and new means of discrimination

Choose the correct option :

(1)
(2)
(3)
(4)

Options :

(b) and (d)
(a) and (c)
(a) and (b)
(a) and (d)

615475468521, 1
E1547546522. 2
615475468522, 3
E1547548524. 4

Question Number : 106 Question Id : 61547511932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547546521. 1
B1547548522. 2
61547548523, 3
61547546524, 4

Question Number : 107 Question Id : 61547511933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
'‘Globalization’ has been chided for many reasons. Choose the correct ones
(a) Soaring economic growth
(b) Eetreat of the State
(c) Racing to the bottom

(d) Death of distance

Choose the correct options :

(1) (a) and (d)

(2) (c) and (d)

(3) (b) and (c)

(d) (a) and (b)
Options :

51547546525 1
B1547548526. 2
G1547546527. 3
615475465528, 4

Question Number : 107 Question Id : 61547511933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) FT (d)
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Options :

£1547546525 1
61547548526 2
61547546527, o
61547546528, 4
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Which among the following are the world conferences exclusively on the title on Human
Rights?

(a) Geneva Conference
(b) Tehran Conference
(c) Rio Conference

(d) Vienna Conference

Choose the correct options :

(1) (a) and (b)
(2) (b) and (c)
(3) (b) and (d)

(4) (d) and (a)
Options :
61547548529 1
61547546520, 2
61547546531 =
61547546532 4

Question Number : 108 Question Id : 61547511934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547546529. 1
61547546530, 2
61547546531, 3
61547546532, 4

Question Number : 109 Question Id : 61547511935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The UN General Assembly 1n its convention in 2006 under Article 5 (3) requires that state
parties provide reasonable accommodation to the disabled which means

{a) in a working place the environment 1z to be restructured to the level of egual
treatment

{(h) restructuring of the envirecnment not to the level of extra-reasonable accommodation

{c) disabled workers are entitled to sundry accommodation

(d) not maintaining the balance between reasonable adjustment and human rights of the
dizabled persons

Choose the correct options :

(1) (a) and (d)
(2) {a) and (h)
(3) (b) and (c)
(4) {(b) and (d)

Options :
15475485321

E1547548534. 2
E1547546535. 3
61547546536, 4

Question Number : 109 Question Id : 61547511935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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61547546533, 1
61547546534 2
1547546535 =2
61547548556 4

Question Number : 110 Question Id : 61547511936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
President of India is part of the Parliament because of which reasons?

(a) President nominates 2 members from Anglo-Indian Community to Lok Sabha and
12 members from various fields to the Rajya Sabha

(b) President is elected by both houses of Parliament and state Legislative Assemblies

(c) President of India 1s the legal head of the state

(d) President is the commander in chief of the Armed forces

Choose the correct options :

(1) (a) and (d)
(2) (b) and (c)
(3)  (a)and (b)

4)  (¢)and (d)

Options :
15475485371



E1547546538. 2
61547546539, 3
51547546540, 4

Question Number : 110 Question Id : 61547511936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) FT (d)
(2) (b) #T (c)
(3) (a) AT (b)

(4) () ¥R (d)
Options :
51547546557, 1
E154754E8538. 2
E1547548539 3
615475468540 4
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Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct as far as Good Governance is concerned

(a) Good governance i3 generally understood as the process of decision making and the

process by which decision are implemented

(b) Good governance takes place with citizens rights as central priority
(c) Unenforced or unjust legal system
(d) A civil society unengaged in public life

Choose the correct option :

(1) (a) and (c)

2 (b)and (¢)
(3)  (a)and (b)

(4)  (b)and (d)
Options :
61547548541 1
61547546542, 2
61547546542 o
61547546544 4

Question Number : 111 Question Id : 61547511937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547546541. 1
61547546542 2
61547546543, 3
61547546544, 4

Question Number : 112 Question Id : 61547511938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Right to constitutional remedy is found in which articles of Indian Constitution?

(a) Article 24
(b)  Article 32
(c) Article 36
(d)  Article 226

Choose the correct option :

(1)  (b) and (d)
(2)  (a) and (b)
(3)  (c)and(d)
(4) (a) and (d)

Options :

E1547546545. 1
E154r546546. 2
£1547546547. 3
15475468548, 4
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(1) (b) 3 (d)
(2) (a) &7 (h)
(3) (¢) R (d)

(4) (a) FF (d)

Options :

615475468545, 1
61547546546 2
61547546547 2
61547548545 4
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Correct Marks : 2 Wrong Marks : 0



Point out the feminists from the following

(a) Betty Friedan
(b) J.5. Mall
(c) Ann J. Tickner

(d) Hans J. Morgenthau

Choose the correct option :

(1) (a)and (b)
(2) (b) and (d)
(3) (a) and (c)
(4)  (a)and (d)

Options :

£1547546549 1
61547548550 2
61547546551, o
61547546552 4
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Which of the followings are the working groups of sub commission on prevention of

discrimination and protection of minorities?

(a) Working group on contemporary form of slavery

(b) Working group on indigenous population

(c) Working group on the status of women and children
(d) Working group on prisoners of war

Choose the correct option :

(1) (a) and (b)
(2) (b) and (c)
(3) (a) and (c)

(4)  (b)and (d)
Options :
615475468553, 1
61547546554 2
61547548555 3
61547546556, 4

Question Number : 114 Question Id : 61547511940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FACTHEAF! % 9% HaRy v TaT & {6 39 A & ®EER 98 Hefdigd 3 8 &6 9 87

(a)  EEAT % THEIGH TET H wEER 9E

(b) =W THAEEA T FEER GUE

(c) HlET UF.{ EE‘T ﬁ ﬁ?ﬁ% ﬁ W-fa?[ rj—,;ejgma THF

(d)  FgAGA T FEFR TR
1)  (a) & (b)
(2) (b) #HF ()
(3) (a) ikl (c)

(4) (b) R (d)

Options :

615475468553, 1
61547546554 2
61547548555 3
61547548556 4

Question Number : 115 Question Id : 61547511941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sustainable development involves which of the following

(a) Increasing dependence on fossil fuels

(b) Protection of the rights of the present generation homosapiens along with the living
non-human and non-living beings to live on this earth
(c) Advising the people to lead an inordinate and high consumenristic life style

(d) Protection of future generation homosapiens along with living non-human and non-

living beings

Choose the correct option :

(1) (a) and (b)
(2) (b) and (d)
(3) (c) and (d)

(4) (a) and (c)
Options :
E1547546557. 1
E1547546558. 2
E154r546558. 3
1547548560 4

Question Number : 115 Question Id : 61547511941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i e 4 Fefcfigs 8 @ %9 91 sigs 27

(a) =9 2HF W YT SeE

(b)  FeE FAFTA AR e TGHA * WU-TT FToAE e SEEEE F 39 95 W I w5 %
AT T HLATT

(¢) A U9 3= SUNRRETE Siea Sel F a5F 96 5 9ed i gaE o

(d)  TeE ATFEE AR [T FgA & TI-T 9= F 9G] FH AT

(1) (a) FE(b)
2 () HR (D)
(3) () FH ()
(4)  (a) A (c)

Options :
15475485571



E1547546558. 2
61547546559, 3
61547546560, 4

Question Number : 116 Question Id : 61547511942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I and List IT and choose the correct answer from the codes given below

List I List II

(a) Protect people against crimes such as murder, massacres. (i) Political right
torture and rape

(b) Protect freedom in areas such as belief, expression. (11) Security right
association, assembly and movement

(¢) Protect the liberty to participate in politics through actions (iii) Liberty right
such as communicating, assembling, protesting. voting and

serving in public office

(d) Provision of education to all children and protection against (iv) Welfare right
severe poverty and starvation

Codes :

(1) (a)-(1). (b)-(i1 ). (c)-(ii1). (d)-Gv)
(2) (a)-(11), (b)-(i11), (¢)-(1), (d)-(1v)
(3) (a)-(iii). (b)-(i). (e)-(iv). (d)-(1)
(4) (a)-(iv), (b)-(ii1), (e)-(i1), (d)-(1)

Options :

E1E47E4EEEL 1

C1547E4EEE2. 2

E1547546563. 3
B1547546564. 4

Question Number : 116 Question Id : 61547511942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T1-1 1 gHI-11 % a19 gafaq Fita i 91 520 7 %20 5 9 98 3930 g6

(a)
(b)
(c)

(d)

T
(1)
(2)
(3)
4)

Options :

Tf1-1 -1
Fed], THEN, ATaT U dTcET 98 SOt o fHEg S & gy (i)  TERfAE S
Tovam, Sfyeats, T4, 99 T3 AReH 99 491 § HEagal & man (i) T T ATER
96 FEeE § F=i & AgE-H, a9 &, 09 5313, 92 F4 (il)  S=aaa F1
UF U o 99 FE] gRT el § HEATRET 1 SASEl 1 Ta TR

ol =11 & Tou e w1 ey R R Rl vE gend F g (v) FeAm # AR

T

(a)-(1), (b)-(i1 ), (c)-(ii1), (d)-@v)
(a)-(11). (b)-(1i1), (e)-(1), (d)-(iv)
(a)-(111). (b)-(i1), (e)-(iv). (d)-(1)
(a)-(1v), (b)-(ii1), (e)-(i1). (d)-(i)

61547548561, 1
61547546562, 2
61547545562, 3
E1547546564. 4

Question Number : 117 Question Id : 61547511943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I and List IT and chooze the correct anzwer from the codes given below

{a)

Last 1 List IT
Transplantation of Human Organs (1) 1961
Act
Mental Health Act (1) 1994
Medical Termination of Pregnancy Act (111) 1987
Maternity Benefit Act ) 1971

Codes :

Options :

(a)-(1). (b)-i11). (e)-(111). (d)-(1v}
(a)-(111). (b)-(1). (e)-(1v), (d)-(11)
(a)-@v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(11). (e)}-(1w). (d)-(1)



E1547546565. 1
61547548566, 2
61547548567, 3
61547546568, 4

Question Number : 117 Question Id : 61547511943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

L
¥

T=1-1 = gHI-11 % 1Y i Hitee AR 4= 757 7™ %21 § § 96l 39 g0

=11 -1
(a) AW T TG FATahT i) 1961
(b) TEEEF H=HEE FAEEIH (i) 1994
(c) T =1 TfRam vame gt (iii) 1987
(d) W= TgEg A= iv) 1971

(1) (a)-(1). (b)-(11 ), (e)-(ii1). (d)-(iv)
(2) (a)-(111), (b)-(1). (e)-(1v). (d)-(11)
(3) (a)-(1v). (b)-(11), (e)-(1), (d)-(111)
(4) (a)-(11), (b)-(iii), (e)-(iv), (d)-(1)
Options :

1547540585 1

E1E47E4AEERE 2

E154754B8567. 3
E1547546568. 4

Question Number : 118 Question Id : 61547511944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT and choose the correct answer from the codes given below

List I List IT
(a) Anarchy. State and Utopia (1) C.B. Macpherson
(b) Spheres of Justice (11) Susan Moller O Kin
(c) Justice, Gender and the Family (1i1) Robert Nozick
(d) Democratic theory : Essavs 1n (iv) Michael Walzer

Retrieval

Codes :

(1) (2)-(). (b)-(i), (e)-@). (d)-Gv)
2 (a)-(1), (b)-(1v), (c)-(111). (d)-(i1)
(3) (a)-(iv), (b)-(1), (e)-(ii), (d)-(iii)
(4)  (3)-(ii), (b)-(v), (e)-(ii), (d)-(1)

Options :

61547546569, 1
61547546570, 2
61547546571, 2
61547546572 4

Question Number : 118 Question Id : 61547511944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o=1-1 &1 g=1-11 & §19 GHiea w0 AR A= 58 T el 9 § ¥el I’ g

gl-1 gH1-11
(a) TUATE, T2 U T2 i) = demad
(b) FHEH ATF TREH (i) TIH AR &1 foA
() <fed, St us g Hine (iii) e FIFeFF
(d) SHEREE @ TEF 1 EEaa (iv) TAE&a T
he :

(1)  (2)-@), (b)-(iid), (e)-(), (d)-(v)
(2) (a)-(1). (b)-(1v), (c)-(1i1). (d)-(11)
(3) (a)-(1v), (b)-(1), (e)-(i1), (d)-(ii1)
(4) (a)-(iii), (b)-(iv), (c)-(1), (d)-(1)

Options :

61547546569 1

E1547548570. 2

E1547548571. 3
E1547546572. 4

Question Number : 119 Question Id : 61547511945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Mateh TLast I and List IT and choose the correct answer from the codes gsiven below

List I List II
(a) Declaration of mghts of the child (1) 1965
(by UNESCO convention to prevent (11) 1963

discrimination in Education

(c) Declaration on Elmimation of all (1) 1960
forms of Racial Dizcrimination

(dy Convention on the elimination of all (iv) 1959
forms of Racial Discrimination

Codes :

(1) (a)-(1), (b)-(1). (e)-(a11). (d)-(iv)
(2) (a)-(1). (b)-(11), (c)-(1v). (d)-(111)
(3) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(4) (a)-(111). (b)-(11). (e}-(1). (d)-(1v)

Options :

61547546573, 1
61547546574 2
61547546575 o
61547546576, 4

Question Number : 119 Question Id : 61547511945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o1-1 &1 F=1-11 o 919 gafad fifu i 9= 57 7 321 § 9 980 39 g6

g1 =11
(a) A ATGEHRT F =Eom i) 1965
(b) T & fa¥s T 2g 790w @1 wfymm ) 1963
() @i IR & I 992 F Fea Famon (Gi) 1960

(d) BF TR F IEE BT % T w1 Gv) 1959
P

& :

(1) (a)-(1), (b)-(11), (e)-(111). (d)-(1v)
(2) (a)-(1), (b)-(11), (e)-(iv), (d)-(ii1)
(3) (a)-(iv), (b)-(iii), (c)-(i1), (d)-(1)
(4) (a)-(ii1). (b)-(11), (c)-(). (d)-(v)

Options :

61547546573, 1
61547546574 2
61547546575 o
61547546576, 4

Question Number : 120 Question Id : 61547511946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT and choose the correct answer from the codes given below

Last I List IT
{a) Liberalism (1) State 1s the result of practices of
government
(by Marx (1) State is Patriarchal
(¢) Feminism (111) State 1s a class state
{(d) Foucault (1v) State 1s a natural state

Codes:

(1) (a)-(). (b)-(11). (e)-(111), (d)-(iv)
(2) (a)-(11), (b)-(11i). (e)-(1v). (d)-(1)
(3) (a)-(iii), (b)-(1), (¢)-(ii), (d)-(iv)
(4 (a)-(1v). (b)-(ii1). (c)-(i1). (d)-(1)

Options :

E154754e577. 1

E154754E578 2

E1547548579. 3
51547546580, 4

Question Number : 120 Question Id : 61547511946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g=1-1 &1 g=1-11 % T19 gafod i i 9= 23 ™= 321 § 9 98 33 90

=1
(a) 3ErAlR
(b) =EFE
(¢ R

(1) (a)-(1), (b)-(i), (¢)-(iii). (d)-(iv)
(2) (a)-(11), (b)-(111), (e)-(1v), (d)-(1)
(3) (a)-(iii). (b)-(1). (e)-(i1), (d)-(iv)
(4) (a)-(iv), (b)-(ii1). (e)-(11), (d)-(1)

Options :

C154754e577. 1

1547546578 2

61547546575, 3
61547546580, 4

(1)
(11)
(111)

(1v)

THI-11

o 2
=4 YgedTcHe &

Question Number : 121 Question Id : 61547511947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



Match List I and List IT and choose the correct anawer from the codes given below

(a)
(b)
(e)

(d)

Last I
He viewed liberty through the utilitarian maxim (1)
He considered freedom as a collective venture (11)

For him each individual i1s free to the extent the exercise of (111
freedom does not violate the tenet of equality

For him liberty signifies the absence of all impediments to (iv)
action that are not contained in the nature and intrinsic quality
of the agent

Codes :

(1)
(2)
(3)
(4)

Options :

(a)-(1v), (b)-(i11), (c)-(11). (d)-(1)
(a)-(id), (b)-(iv), (c)-(i1). (d)-(1)
(a)-(1), (b)-(i1). (e)-(ii1), (d)-(1v)
(a)-(i1), (b)-(1), (c)-(ii1), (d)-(1v)

61547546581, 1
615475465582, 2
E154754E8583. 3
E1547546584. 4

List IT
Hobbes
Locke

Rousseau

Bentham

Question Number : 121 Question Id : 61547511947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g1-1 &l G=I-11 % 1% GHfTd iy S A= 52 7 %2 5§ "9l 30 200,

(a) 3T STAREER gie ¥ Haad1 &l o]
(b) 3T TG &I A AT TH &

=1-1

(c)

T & Hgd 1 Al T8 2697 2

0% foiu weie =ats 99 9% ©ad & 99 9F % SO Haddl ° E A Gid) =4

g=1-11
(1) E=H
(ii) <k

(d) 3E% TEU SaEd F1 GEcd 5 &l OE) W] o AYE H 2 o1 % Fwal # (iv)  ae9m

YT S AT o A e T 2 2

e

(1)
(2)
(3)
(4)

Options :

(a)-(iv), (b)-(1i1), (e)-(11), (d)-(1)
(a)-(iii), (b)-(iv), (e)-(i1), (d)-(i)
(a)-(1), (b)-(11), (e)-(111), (d)-(iv)
(a)-(11). (b)-(1), (e)-(111), (d)-(iv)

61547548581, 1
61547546582, 2
61547545582, 3
E1547548584. 4

Question Number : 122 Question Id : 61547511948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I and List IT and choose the correct answer from the codes given below

ListI

(a) Michele Barrett
(b) Judith Butler

() Simone De Beauvoir

(d) Alison Jaggar

Codes :

(1)
(2)
(3)
(4)

(a)-(1), (b)-(i1), (¢)-(i11), (d)-(1v)
(a)-(1v). (b)-(1i1), (e)-(11). (d)-(1)
(a)-(111). (b)-(1), (c)-(1), (d)-(iv)
(a)-(11), (b)-(111), (c)-(1v), (d)-(1)

(1)
(11)
(111)

(1v)

List IT
Feminist Politics and Human Nature
The Second Sex
Gender Trouble

Women’'s Oppression today



Options :

615475468585, 1
61547548586 2
61547548557 2
61547546588, 4

Question Number : 122 Question Id : 61547511948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g=1-1 &1 g=I-11 & @1y ghfoa Fifee @/ 9= 53 7 320 8§ 3 78 331 3

g=1-1 g=1-11
(a) o= =2 (1)  FEFE Tifaeem 12 27 =
(b) g=H TH (i) 7 UFs T99
(c) HMEM 7 FEaR (iii) TS 2o
(d) T SR (iv) THH A 22

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(ii1). (c)-(11)., (d)-(1)
(3) (a)-(iii), (b)-(ii), (e)-(). (d)-({v)
(4) (a)-(11), (b)-(111), (c)-(1v), (d)-(1)

Options :

61547546585, 1
61547546586, 2
61547546587, o
61547546588, 4

Question Number : 123 Question Id : 61547511949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT and choose the correct answer from the codes given below

List I List IT
(a) Right to Life (Under CRC) (1)  Article — 20
(b) Right to Education (Under CRC) (1) Article—13
(¢) Right to Freedom of Expression (Under CRC) (111) Article — 28
(d) Right to Family Environment (Under CRC) (iv) Article —6

Codes:

(1) (a)-(1v). (b)-(i1). (e)-(1). (d)-(ii1)
(2) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
(3) (a)-(), (b)-(i), (e)-(ii), (d)-(v)
(4) (a)-(ii1). (b)-(iv). (c)-(1). (d)-(i1)

Options :

61547546589, 1
61547546590 2
61547546591, 2
61547548592 4

Question Number : 123 Question Id : 61547511949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gA1-1 &1 g=1-11 & a1 gafaq $ifeu ok 9= 23 ™ $20 8 ¥ 98 33 g .

i HA-11

(a) A T ATHFEE (F AR G F HFT9) (i) &= — 20
(by Toreqm =1 ATgER (H 97 &1 % SF304) (i) &T=95 — 13
(c) HATY=ATH &I TAFal & ATFR (H A = F Haa) (iii) HIwes — 28
(d) TREATHE SEE 1 AfgET (H #@R H F sad) (v) =g —6

(1) (a)-(iv), (b)-(ii), (c)-(1). (d)-(iii)
(2) (a)-(1v), (b)-(i11), (e)-(11), (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(ii1), (d)-(iv)
(4) (a)-(111), (b)-(1v), (c)-(1), (d)-(11)

Options :

61547546589, 1
615475485490, 2
61547546591, 5
61547546592, 4

Question Number : 124 Question Id : 61547511950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT and choose the correct answer from the codes given below

List I List II
(a) Liberal Theory of Citizenship (1) Anthony Giddens
(b) Libertarian Theory of Citizenship (11) Hanna Arendt
(c) Communitarian Theory of Citizenship (111) Robert Nozie
(d) Marxist Theory of Citizenship (iv) T.H. Marshal
Codes

(1) (a)-(1v), (b)-(iii), (e)-(11). (d)-(1)
(2) (2)-(1), (b)-(1). (e)-(i11), (d)-(iv)
(3) (a)-(11), (b)-(111), (¢)-(1v), (d)-(1)
(4) (a)-(i11). (b)-(1v), (¢)-(1). (d)-(11)

Options :

615475485493 1
61547546594, 2
61547546595 o
61547546596, 4

Question Number : 124 Question Id : 61547511950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=i-1 F1 G110 % d19 gHiad $itau, d = f58 ™ %52 § § @8 39 it

11 =11
(a) FTNIIGERAT &1 32rEm! Ao 1) TR e
(b) AR T E=aEEEE HgE (i) 791 Te=2
(c) FTIiERAl 1 THEEETE g (iii) T2 AT
(d) TiERaT & gEEaE; fEgE (iv) Z1.u=. O

T

(1) (a)-(iv). (b)-(ii1), (e)-(11). (d)-(1)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(11), (b)-(111), (e)-(1v), (d)-(1)
(4) (a)-(111), (b)-(1v). (e)-(1). (d)-(11)

Options :

61547546593, 1
61547546594 2
61547546595 =
61547546596 4

Question Number : 125 Question Id : 61547511951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT and choose the correct answer from the codes given below

List I List 1T
(a) DMagna Carta (1) 1948
(b) International Convention on Civil and (11) 1989
Political Rights
(¢) Universal Declaration on Human (i11) 1215
Rights
(d) Convention on Rights to child (1v) 1966

Codes :

(1) (2)-Gii), (b)-(iv), (e)-Q), (d)-(i1)
(2) (a)-(1), (b)-(ii1), (e)-(). (d)-Gv)
(3) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
4)  (a)-(v). (b)-(11). (e)-(1). (d)-(ii1)

Options :

£1o4r548597. 1
E1547546598. 2
E154r546599. 3
E1547546600. 4

Question Number : 125 Question Id : 61547511951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



= it [ e

T1-1 &1 gE-11 & T GHTd S0 SR He 7580 T F20 § § 981 30 G0 ¢

T=-1 -1
(a) HAERI i) 1948
(b) T T UeHAE ATGERT § "aigg F=7 (1) 1989
(c) HFETHFR 8 Taiad 9 HiHes S (iii) 1215
(d) =T AfgFERT § getag wfiaaa (iv) 1966

T

(1) (a)-(111). (b)-(iv), (e)-(1). (d)-(11)
(2) (a)-(11). (b)-(i11), (c)-(1). (d)-(1v)
(3) (a)-(1), (b)-(11), (e)-(111), (d)-(1v)
(4) (a)-(1v), (b)-(i1), (e)-(1), (d)-(111)

Options :

61547546597, 1
61547546598, 2
61547546599 =
61547546600 4

Question Number : 126 Question Id : 61547511952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following acts in a chronological order :
(1) Consumer Protection Act

(i1) Hindu Marriage Act

(iii)  Prevention of Corruption Act

(1v) Income Tax Act

Choose the correct code :

(1) (1), (1), (1i1), (iv)
(2) (1ii). (i1), @Gv). (1)
(3) (11), (1), (1), (v)

@) ({v). (). (Gii). @)
Options :
E154r546601. 1
E154r546602. 2
E154r546603. 3
1547548604 4

Question Number : 126 Question Id : 61547511952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(i) STHR EE A
(i)  Tomg fraTe fertem
(iii) YR Harm @fafEm
(1v) AL Afafaag

(1) (1), (1), (1), (v)
(2) (111), (11), (1v), (1)
(3) (11), (111). (1). (1v)

(4) (1v), (11). (1), (1)
Options :

E154r546601. 1
E154r546602. 2
E154r546603. 3
£1547546604. 4

Question Number : 127 Question Id : 61547511953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Fundamental Rights in the order of its sequence
(1) Right against exploitation

(11) Abolition of untouchability

(1)  Right to equality

(iv)  Protection of life and personal liberty

Choose the correct codes :

(1) (1), (), (). (av)
(2) (11). (1v). (1), (111)
(3) (i), (11), i), @)

(4) (1v), (1), (11). (1)
Options :

E154r546605. 1
E1547546E608. 2
E154r546607. 3
1547548608, 4

Question Number : 127 Question Id : 61547511953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A Rgd difcis ATIFERT 1 39 7 0 FaEdd i ;

(1) I F g AgEn

(1)  HATITIAT FT I
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(1) (1), (11), (111), (V)
(2) (i1), (v), (1), (1i1)
(3) (111), (11). (1v). (1)
(4) (1v). (1), (11). (111)

Options :
E154754E805. 1

E154754E6606. 2
51547546607, 3
615475456808, 4

Question Number : 128 Question Id : 61547511954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following declarations in their chronological order
(1) Rio Declaration on Environment and Development

(1) Vienna Declaration on Human Rights

(111)  Stockholm Declaration on Environment

(iv)  Universal Declaration of Human Rights

Choose the correct code ;

(1) (1), (1), (1v). (11)
(2) @), @), @.av)
(3) (1v). (11), (1), (11)

(4) (1), (11), (111), (1v)
Options :
615475486059 1
61547546610 2
61547546611 5
E154754E6812 4

Question Number : 128 Question Id : 61547511954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (1), (1), (v). (11)
(2) (111), (1), (11), (1v)
(3) (1v), (11), (1), (11)
(4) (1). (1), (111), (1v)

Options :

61547546609 1

1547546610 2

61547546611 2

61547546612 4

Question Number : 129 Question Id : 61547511955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the order in which the following words appear in the definition of Human Rights as
given in section 2 (d) of the Protection of Human Rights Act 1993

(1) Life
(11) Liberty
(i1i))  Equality

(1v) Dignity

Choose the correct codes :
(1) (iv), (1), (i11), (i)
(2) (1). (11), (1), (1v)
(3) (111), (1), (v), (11)
(4) (11), (1m1). (1), (1v)



Options :

61547546613, 1
61547546614 2
61547546615 2
61547546616, 4

Question Number : 129 Question Id : 61547511955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (iv). (11), (11). (1)
(2) (1), (1), (111), (V)
(3) (111). (1). (v). (11)
(4) (11), (11). (1), (1v)
Options :

61547546613, 1
61547546614 2

61547548615 3
61547548616, 4

Question Number : 130 Question Id : 61547511956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the acts in their chronological order
(1) National Commission for Women Act
(11) National Commission for Minorities Act
(111)  Protection for Human Rights Act

(iv)  Domestic Violence Act

Choose the correct code :

(1) @), (i), (v), (i)
(2) @), (iD), (iid), (iv)
(3) (), @v), (1), (3)
(4) (v, (1), (i1), (iii)

Options :

61547546617, 1
61547546618, 2
61547546619 2
61547546620 4

Question Number : 130 Question Id : 61547511956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546617, 1
61547546618 2
£154754E619 2
61547546620, 4

Question Number : 131 Question Id : 61547511957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following books in their chronological order from the year of their publication
(1) An introduction to the prineiples of Morals and Legislation

(11) Utilitarianism

(111)  The methods of Ethies

(1v) Utopia

Choose the correct code :

(1) (1), (11). (111), (17)
(2) (111), (1v), (11), (1)
(3) (1v), (111), (1), (11)
(4) (1v), (1), (11), (111)

Options :

61547546621, 1
61547546622 2
61547546623 3
61547546624, 4

Question Number : 131 Question Id : 61547511957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (). @), (i), (iv)
(2) (111). (1v). (1), (1)
(3) (1v). (1), (1), (1)
(4) (iv). (1), (11), (111)
Options :
E1o4r54e621. 1
E154754E6E22. 2

B15475486823. 3
61547546624, 4

Question Number : 132 Question Id : 61547511958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Freedom movements in India in their chronological order
(1) Non Cooperation Movement

(11) Civil Disobedience Movement

(111) Home Rule Movement

(iv)  Quit India Movement

Choose the correct code :

1) @i, Gv), (i), @)
(2) (i), (), (i), (V)
(3) (). (id), (iii), @v)

(4) (1v). (111). (1). (11)

Options :

61547546625, 1
61547546626, 2
61547546627, o
61547546628, 4

Question Number : 132 Question Id : 61547511958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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el F2 96

(1) (11), (1v), (111), (1)
(2) (111), (1), (11), (1v)
(3) (1), (11), (111), (1v)
(4) (1v). (111). (1). (11)

Options :

1547546625, 1
61547546626, 2
61547546627, o
61547546625, 4

Question Number : 133 Question Id : 61547511959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange the participatory rights of child under 1989 UN Convention in chronological order

(1) Freedom of thought, Conscience and religion
(11) Right to be heard
(ii1))  Freedom of association and assembly

(iv)  Freedom of expression

Choose the correct code :
(1) (1v). (1), (1), (111)
(2) (i1), (iv), (i). (iii)
() (111), (1). (1), (iv)
(4) (1). (111). (1v). (1)

Options :



E1547546629. 1
61547546630, 2
61547548631, 3
61547546632, 4

Question Number : 133 Question Id : 61547511959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (1v), (11). (1), (111)
(2) (11), (1v), (1), (111)
(3) (111), (1), (1), (V)
(4) (1), (11), (1v), (11)

Options :

61547546629, 1
61547546630 2
61547546631 2
61547546622, 4

Question Number : 134 Question Id : 61547511960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the books in chronological order as authored by J.S. Mill
(1) Principles of Political Economy

(11) Utilitarianism

(ii1)  System of Logic

(1v) Consideration on Representative Government

Choose the correct code :

1) G, @), Gv), ()
@) (), (i), (v). @)
(3)  (iv), (). @), (ii)
4) (). (i), Gii). Gv)

Options :

£154r54E8633. 1
E154r546634. 2
E1547546635. 3
E154754E6E36. 4

Question Number : 134 Question Id : 61547511960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (111). (1), (1v), (11)
(2) (11), (111), (1v), (1)
(3) (1v), (11), (1). (111)
(4) (1). (11), (111), (1v)

Options :

£1547546633 1
61547546634 2
61547546635 o
61547546636, 4

Question Number : 135 Question Id : 61547511961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following concepts in chronological order as appearing in International

Covenant on Civil and Political Rights 1966
(1) Liberty of movement

(1) Torture and inhumane treatment
(111) Slavery

(iv)  Family

Choose the correct code :
(1) (1v). (111). (1). (11)
(2) (111), (1), (11), (1)
(3) (11), (111). (1), (1v)

(4) (1), (av), (11), (111)
Options :
51547546657, 1
E154754EESE. 2
E1547545639 3
61547546640 4

Question Number : 135 Question Id : 61547511961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT UA TeH{d AGER] H Feiga Hefangd Fgal 1 daL T8 THEE 1966 H 396 3909d 24 %

F0 1 FEFAFER I I

(i) AR 1 HagdT
(i) A U9 AFEEE S=FEN
(111) aldd

(1v) THER

(1) (1v). (111). (1). (1)
(2) (11). (1). (11), (1v)
(3) (11), (111). (1), (1v)
(4) (1). (1v). (11), (111)

Options :



E1547546637. 1
61547548638, 2
61547548639, 3
61547546640, 4

Question Number : 136 Question Id : 61547511962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A):  Domestic responsibilities could be undertaken by the husband or they

could be shared equally between husband and wife in so called

symmetrical families

Reason (R) : This would destroy the age old traditional belief that women are destined

to do social responsibility alone

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true
Options :
1547545641 1
6154754 e642 2
61547546643 3
51547546644 4

Question Number : 136 Question Id : 61547511962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546641, 1
615475460642 2
61547546643 o
61547546644 4

Question Number : 137 Question Id : 61547511963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A):  Women in India today enjoy equal opportunities with men

Reaszon (R) : The status of women in the country has always been regressive

Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 13 true but (R) is false

(4) (A) 1s false but (R) is true

Options :
61547546645 1



E154754664E. 2
B15475486847. 3
61547546648, 4

Question Number : 137 Question Id : 61547511963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
E154754E645 1

E154754e64E, 2
E1547546647. 3
61547546648, 4

Question Number : 138 Question Id : 61547511964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Assertion (A) : Human Rights conceptions are a western gift or having a Eurc-Centric

Tradition

Reason (R) : It means the suppression of alternative histories of the non-European

other, its distinet eivilizational understanding of Human Rights

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 13 true but (R) is false

(4) (A) 1s false but (R) is true
Options :
1547540049 1
61547546650 2
61547546651 2
61547546652 4

Question Number : 138 Question Id : 61547511964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546649, 1
61547546650 2
61547546651, 2



E1547546652. 4

Question Number : 139 Question Id : 61547511965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A):  Right to clean drinking water and right to free air to breath are attributed

to the right to life

Reason (R) : Because they are the basic elements which sustain life

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correet explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true
Options :
E154754E6535. 1
61547546654 2
61547546655 3
1547546656 4

Question Number : 139 Question Id : 61547511965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547546653, 1
615475466854 2
61547546655 2
61547546656, 4

Question Number : 140 Question Id : 61547511966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) :  Civil Rights include the ensuring of People’s physical and mental integrity
Reason (R) : Civil and political rights are a class of rights that protect individual's

freedom from infringement by the government

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true
Options :
15475466571
E154754E658. 2
15475466559 2
1547540660, 4

Question Number : 140 Question Id : 61547511966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1o4r54E8E57. 1
E154754E6E58. 2
E1547546E59. 3
E1547546E680. 4

Sub-Section Number: 2
Sub-Section Id: 615475514
Question Shuffling Allowed : Yes

Question Id : 61547511967 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Juestion Label - Comprehension



Read the passage carefully and answer the questions that follow =

UN human-richts system iz a ‘regime’: that is, a set of norms and institutions that is
accepted by states as binding. The UN human-richts regime is based on the Universal
Declaration. The Vienna Declaration and the relatively large number of signatories to the
1966 covenants show that most states accept the legitimacy of this regime. Yet the concept of
state sovereignty remains strong, and implementation of human-rights standards is uneven
and sometimes disastrously ineffective. Since the end of the cold war there has been some
attempt at human-rights enforcement, but this has proved uneven, not very effective, and to
some extent counterproductive. That the regime is strong on declarations and weak on
implementation and enforcement reflects the interests of the principal international actors:

states.

Nevertheless, the political character of international human-rights institutions can promote
human rights if a sufficiently strong alliance of states exerts pressure on an offending state
with an interest in conforming with the demands of the society of states. The international
human-rights regime has some prestige in world politics that gives it the potential for
mobilization. Its political selectivity undermines this prestige. The Office of the High
Commissioner for Human Rights is another instrument for impartial human-rights

promotion and, perhaps, implementation’.

The international human-rights regime is political. not philosophical. It responds
pragmatically to circumstances, and consequently operates inconsistently. The relatively
coherent ideals of the Universal Declaration are. therefore, in practice unevenly
implemented. The UN iz a club of States, represented by governmental leaders, and.
notwithstanding their conflicts of interest and ideology, they have a common interest in
mutual accommodation. This may inhibit robust action for human rights when such action
might upset the diplomatic apple-cart.

Sub questions

Question Number : 141 Question Id : 61547511968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is a Regime?

(1) Regime is a system of government elected by the people

(2) A dictatorship under the leadership of a single person

(3) A set of norms and institutions commonly accepted by states as binding
(4) A single partv dominance in a multi party system
Options :

61547548661, 1
61547546662, 2
61547546663, 3
E154754E8664, 4

Question Number : 142 Question Id : 61547511969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

It is said the human rights regime is too much declaratory and less enforceable. What is the
reason?

(1) The human rights regime lack legitimacy
(2) The human rights are not coherent
(3) The human rights regime is too much philosophical and ideological
(4) The state sovereignty is verv strong
Options :

61547546665, 1
61547546666, 2
E154754BB67Y. 3
E1547546668. 4

Question Number : 143 Question Id : 61547511970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Since the end of cold war the implementation of human rights has not been effective. What
is the factor?

(1) The states are the main principal actors in the international realm

(2) The state remain always subordinate to the will of the United Nations

(3) Human rights are to much abstract to be implemented by states

(4) There 1s no definite plan of action on the part of the regime to implement rights
Options :

51547546669, 1
61547548670, 2
61547546671, 3
61547546672, 4

Question Number : 144 Question Id : 61547511971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the reason that the UN revived the natural rights tradition by adopting the concept
of human rights?

(1) Human rights concept was in need of a moral foundation which was given by natural
rights tradition
(2) This natural rights tradition was revived as a reaction against Nazism
(3) Natural rights tradition was revived to attach a universal character to rights
(4) The natural rights tradition was not controversial and above the criticism of others
Options :

BE1547546673. 1
B1547546674. 2
61547548675, 3
E154754667E. 4

Question Number : 145 Question Id : 61547511972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What inhibits rebust action for human rights by the United Nation where there are to be
enforced?

(1) The human rights are unevenly implemented
(2) The human rights regime i1s not political

(3) The states composing the United Nations, not withstanding their conflict of interest
and ideclogy., have a common interest in natural accommodation which prevents
robust action, lest it would disturb the diplomatic apple-cart

(4) The human rights are mere pawn in the hands of dictatorial governments
Options :

61547546677, 1

61547546678, 2

615475466793 2

61547546650, 4

Question Id : 61547511967 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Cuestion Latbel COI‘H}JI"EHEHSiOH
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Read the passage carefully and answer the questions that follow :-

The twenty-first century begins with the future of human rights uncertain. Great advances
have been made since 1945, not only in standard-setting (international and national laws)
and institution-building (human-rights commissions, committees, courts, etc.), but also in
freedom and well-being for many people in many countries. There are =still many countries in
which eivil and political rights are trampled on. Progress towards the recognition of economic
and social rights has been slow and largely rhetorical. Worse, the fashion for neo-liberal
economic policies has reduced the protection of these rights for millions of people around the
world who enjoy them least. There 1s a tendency among human-rights academics to devote
excessive attention to the UN system of commissions and committees. These may be
important., but they are certainly not the only important institutions that affect human
rights in the world, and they are probably not the most important. The concept of human
rights 1s centrally concerned with the misuse of power. The social-scientific study of human
rights should give priority to the primary centres of power and to the possible sources of
resistance. This entails that human-rights studies should attend more to the G7, the Bretton
Woods institutions, and the foreign policy of the USA. The study of human rights should be
integrated with political economy, development economics. conflict studies and the polities of
demoecratic transition. The political theory of human rights has, since Locke. accorded to the
rule of law a central place in the protection of human rights. This is correct. Nevertheless,
both the theory and practice of human rights have suffered from being excessivelylegalistic.
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Correct Marks : 2 Wrong Marks : 0
Due to which policies millions of people around the world have enjoyved human rights least?

(1) Role of Human Rights Commissions (2) Neo-Liberal economic policies
(3) The UN Policies (4) The role of the super powers
Options :
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The tendency among human rights academies is to give primary to

(1) State

(2) US foreign policy

(3) UN system of commissions and committees
(4) The interest of most powerful countries of the world
Options :
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Great advances have been made regarding human rights in which field?

(1) Increasing growth in the powers of the states
(2) Increasing irrelevance of Neo-liberal policies
(3) Decreasing importance of the UN institutions
(4) Standard setting and institution building
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The political theory of Human Rights accorded a central place to which

(1) Rule of Law (2) Increment of power in the state
(3) UN institutions and commissions (4) G-T countries
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The social and scientific studies of Human Rights should give priority to what?

(1) International laws and National Laws

(2) Primary centers of power and the sources of resistance

(3) Increasing the power and authority of state

(4) Creation of more human rights commissions and committees

Options :
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